
2030 SPEERS ROAD | OAKVILLE, ONTARIO | L6L 2X8 | 1-888-945-5725 | 905-827-0224

 WILLPAK #13467   |   PAGE 1

	 13467 	 05-up 	 Ford 	 Mustang GT Chin Spoiler (GT Only)
	

 

INSTALLATION & HARDWARE MOUNTING INSTRUCTIONS 
Please read thoroughly before beginning

Remove the factory hardware holding the front center splash shield to the lower front bumper cover (4 pcs). 1.	
Fit your new chin spoiler to these holes and fasten using original factory hardware, adding one fender 2.	
washer to each screw prior to re-installing.
Do not fully tighten these four screws.3.	
Install supplied bolts, washers and lock-washers and secure starting at the outer holes in the factory 4.	
bumper cover.
Do not fully tighten these bolts.5.	
Check alignment of chin spoiler.6.	
Drill two 3/8” holes through the factory bumper cover using the chin spoiler as a guide. 7.	
Install bolts, fender and lock-washers, nuts.8.	
Tighten ALL hardware. 9.	 DO NOT OVER-TIGHTEN.

Note: 
This chin spoiler will reduce 

available ground clearance in front 
of the vehicle. Use caution when 
approaching driveways, speed 

bumps, parking blocks or similar 
items on the road.

CONTENTS: 			   1 - 	 Chin Spoiler			   4 -	 5/16” Lock Washers
			   4 -	 5/16” Hex Bolts		  4 -	 5/16” Hex Nuts
			   12 -	 5/16” Fender Washers	 			 

Tools Required for Installation
	 	 	 	 • 3/8” Drill Bit   	 	 	 • Marker     
	 	 	 	 • 7/32” Wrench    	 	 	 • 1/2” Wrench                                      
	 	 	 	 • Drill 	 	


